04203_C k4 , 7%, C &

7= miiEA

ME
Mo

I
ZFFRAE |
5 DIN 6379 #24F , DIN 6340 # 5 % DIN 6330B 12/ 1 —%,

BR:

AAFRERTUPRRERTLRENRE, RERERBEETRHFIM ,
Ht T AR EFE AR, AURERTUTEZHE | TNE2EDH
TSI , AT AEFENESHFEER,

R4
AT B 04204
L1
feg—
_E
]
T~
T L | ||
2
\ | ! = 3
q—
P’!W YT =
= x
1
L2 H
D
‘ [
@ )
|
]
L
04203-312115100 C IR (44| 30 [ 13 | 11 0-30 18 | 27 | 17 | 12 115 | 25|30 M12X100 30
04203-312115125 C IR |44 30 (13| 11 0-55 18 | 27 | 17 | 12 115 | 25| 30 M12X125 30
04203-312150125 C IR 55| 41 |17 |12 0-50 20 | 36 | 21 | 17 150 | 35| 36 M12X125 40
04203-312150160 C HIEAE |55 41 (1712 0-70 20 | 36 | 21 | 17 150 | 35| 36 M12X160 40
04203-316150125 (¢} IR (55| 41 |17 |12 0-40 20 1 36 | 21 | 17 150 | 35| 36 M16X125 40
04203-316150160 C IR |55 41 (1712 0-70 20 | 36 | 21 | 17 150 | 35| 36 M16X160 40
04203-320187160 C HIEAE (62| 30 |21 14 0-40 30 | 42 | 27 | 20 187 |44 | 44 M20X160 60
04203-320187200 C IR 62| 30 | 21|14 0-80 30 | 42 | 27 | 20 187 |44 | 44 M20X200 60
04203-320235200 C HIEAE (70| 30 (25 (17 0-70 3115134 |24 235 60|47 M20X200 75
04203-320235250 (¢} IR (70| 30 |25 |17 0-100 3115134 |24 235 60|47 M20X250 75
04203-324235200 C IR (70| 30 |25 (17 0-50 31|51 |34 |24 235 |60 |47 M24X200 75
04203-324235250 C wIEME (70| 30 |25 |17 0-100 3115134 |24 235 60|47 M24X250 75

© norelem www.norelem.com




04203_C &t  miF®, C &

© norelem www.norelem.com



